Timely Practice percent strand 8

new learning questions

All these questions are NO calculator practice

1. A sanding machine costs list price plus VAT at 20%
The list price of the sanding machine is £150

Work out the total cost of the sanding machine.

2. Fay earns £24 000 per year.
She will have a pay rise of 1.5% next year.

How much will her new salary be?

3. A sofa costs £960
Grant gets 15% off the price of the sofa.
Work out how much he has to pay for the sofa.

4. A car costs £17000
Errol gets 5% off the price of the car.
Work out how much he has to pay for the car.

Answers: 1) £180 2) £24360 3) £816 4) £16150
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